N SR/
FLOATING JOINT

ARRIER B1) E(2)

EARTLE E| F G N &5
8 FC-1004T | M4X0.7 |24.5 8 | 9 12 2 4 4 8 7 0.5 &-1
10,15 FC-1005T| M5X0.8 | 38| 14| 15 | 18 3 5 5 11 9 0.5 &-1
15 FC-1006T| MBX1.0 | 38 | 14| 15 | 18 3 6 5 11 9 0.5 &-1
20 FC-1008T| M8X1.25 | 50 | 18| 20 | 24 | 4 8 7 14 12 0.5 &-1
25,30 FC-1010T |[M10X1.25/1.5| 59 | 20 | 22 | 26 5 | 10 7 17 14 0.75 &-1
40 FC-1012T |M12X1.251.511.75 57 | 20| 22 | 28 5 |12 8 19 12 0.75 &-1
40 FC-1014T | M14X1.5 | 70 | 21| 24 | 35 7 |14 8 22 17 1 &-1
50,63 FC-1016T| M16X1.5 | 90 | 26 | 28 | 45 9 | 16 13 28 24 1.25 &-1
50,63 FC-1018T | M18X1.5 | S0 | 26 | 28 | 45 9 | 18 13 28 24 1.25 -2
80 FC-1020T | M20X1.5 | 103| 30| 32 | 55 | 10 | 20 16 32 27 2 &-2
80 FC-1022T | M22X1.5 |103| 30 | 32 | 55 |10 | 22 16 32 27 2 &E-2
100 FC-1024T | M24X1.5 |[124| 35|38 | 61 |12 | 24 19 41 33 2.5 &-2
100 FC-1026T | M26X1.5 |130| 43 | 45 | 61 |12 | 26 1€ 41 B8Y) 2.5 &-2
125,140 FC-1030T |M30X1.5/2.0/35 153 | 57 | 59 | 83 | 20 | 30 18 41 33 3 -2

) B3 B4
Fiz e /M ﬂ} $
:’75( Tf%g - //(Kmu . D£ ’:/75( T%Q ﬁﬁ
iy e A y R S e g;
i G AN jn) G ad hd
T N ‘ B M 1 1 T N 4-d /
C

EREE | ®|HE | MxeuRsh | B J| 6
20 FC-1008F M8X1.25 25 | B2 40 | 24 | 6 7 7 14 12 0.5 B-3
25,30 FC-1010F M10X1.25 32 | BB |44 | 26 | 9 7 7 17 14 0.75 B-3
40 FC-1012F M12X1.25 32 | 56 (44 | 28 | 9 7 8 19 12 0.75 B-3
40 FC-1014F M14X1.5 38 |80 60| 35|12 |11 8 22 17 1 B-3
50,63 FC-1018F M18X1.5 74 - 45 | 45 | 15 | 11 13 28 24 1.25 &E-4
80,100 FC-1020F M20X1.5 100| - 62 | 55 /18 |14 | 16 32 27 2 B-4
100 FC-1026F M26X1.5 100| - 70| 61|21 |14 | 19 41 88 2.5 B-4
125,140 FC-1030F M30X1.5 100 - 70| 83|21 |14 | 18 41 33 3 B-4

SEREHE EH2E BRI FERIRINEES

4 23.01



FC 23

AN ES B(5) .

L
L X =N -1y T

DK
Sl

MXP (%) T|J | G
20 FC-1008L M8X1.25 44 115\24|26| - | 19 |29 | 4 | 9 7 14 | 12 0.5 &-5
25,30 FC-1010L| M10X1.25 44 119\26|/26| - | 24 |35 |5 | 9 7 17 | 14| 0.75 &-5
40 FC-1012L| M12X1.25 44119/28|26| - | 24 |35 | 5 | 9 8 19 |12 | 0.75 B-5
40 FC-1014L M14X1.5 66 |22|35|36| - (40.5/56 (10|14 | 8 22 |17 1 &-5
50,63 FC-1018L M18X1.5 B0 |28|45|32|32| 76 |90 (15|11 |13 | 28 | 24 1.25 B-6
8o FC-1022L M22X1.5 68 |35/55/36|36| 89 [106|20|14 | 16 | 32 | 27 2 B-6
100 FC-1026L M26X1.5 68 |42|61/36|36| 95 [112/20|14 | 19 | 41 | 33 2.5 B-6
EAREE (EHSE BRGNS B IRIEINEES
3 BN 332 58 fE A3 5

} o 5
s A
ﬂ{m( y T AT

rDijjj/‘ - #ﬁ Aa
v Y\ mm JF S_om
Ba A =
Eras eFil
BENEE
BEE=
| ! mRL
ﬁifﬂW»waﬂ Lﬁw U @§%§%NTQ’
— 1 L [ L | I T
| AN/ |
B BIFEE @Eﬁ%/f SENEE MBEL




